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>4?<F4?L=>7> D5<>=F4 4D4<4F<G5E>>7> F54FD4 =4 2, 3 < 4 MF464E. �>4>?NG5=<5 > 

EGM5EF6GNM<< E5FO< 6>4>E=4565=<O ?D54GE<4FD<645FEO ?>4 ?>F>?>>< 1 MF464. %5F<, 

D4E?>?4745<O5 =<65 6F>D>7> MF464, ?D>5>F>< =5 D4EE<4FD<64NFEO. 

2. %6545=<O > EGM5EF6GNM<E < ?D>5>F<DG5<OE 7>=4E >ED4=O 

<EF>G=<>>6 ?<FL56>7> 6>4>E=4565=<O, 6>4>>ED4==OE 7>=4E 

� D4<>4E ?D>5>F4 ?> >4?<F4?L=><G D5<>=FG 6>4>E=4565=<O 744=<O, 7>=O >ED4=O 

<EF>G=<>>6 ?<FL56>7> 6>4>E=4565=<O, 4 F4>65 6>4>>ED4==O5 7>=O =5 D4EE<4FD<64?<EL. 

3. �?<E4=<5 < E4D4>F5D<EF<>4 E<EF5<O 6>4>E=4565=<O < 55 ?4D4<5FD>6 

�44=<5 >5>DG4>64=> E<EF5<4<<: 

- %>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O; 

-�D>F<6>?>64D=>7> 6>4>E=4565=<O (?D>5>F>< =5 74FD47<645FEO); 

- �>DOG57> 6>4>E=4565=<O 3 6 D4<>4E ?D>5>F4 >4?D5<>=F4 2, 3 < 4 MF465= 

?D54GE<4FD<645FEO ?>4>?NG5=<5 > EGM. E5FO< ?>4 ?>F>?>>< 1 MF464. 

�D>5>F>< ?D54GE<>FD5= ?5D5=>E E4=<F4D=OE G7?>6 < E<EF5< 6>4>E=4565=<O 6 D4<>4E 

>4?<F4?L=>7> D5<>=F4 4D4<4F<G5E>>7> F54FD4 =4 2, 3 < 4 MF464E. �>4>?NG5=<5 > 

EGM5EF6GNM<< E5FO< 6>4>E=4565=<O ?D54GE<4FD<645FEO ?>4 ?>F>?>>< 1 MF464. %5F<, 

D4E?>?4745<O5 =<65 6F>D>7> MF464, ?D>5>F>< =5 D4EE<4FD<64NFEO. 

4. %6545=<O > D4EG5F=>< (?D>5>F=><) D4EE>45 6>4O =4 E>7O=EF65==>-

?<FL56O5 =G64O, 6 F>< G<E?5 =4 46F><4F<G5E>>5 ?>64D>FGL5=<5 < 

F5E=<G5E>>5 6>4>E=4565=<5, 6>?NG4O >5>D>F=>5 

�4<<5=>64=<5 

E<EF5<O 

$4EG5F=O= D4EE>4 6>4O �D<<5G. 

<3/EGF <3/G4E ?/E 
�D< 
?>64D5 ?/E 

�44=<5 F54FD4 =4 80 4>F5D>6 < 738 7D<F5?5=: 

�1>5M. 10,58 1,486 0,77   

�1 7,94 0,79 0,49   

&3 2,64 0,66 0,42   

?4D>G6?46=<F5?L  0,146    
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>5O74F5?L=><G ?D<?>65=<N  �, F45?. �2, ?. 20  - «�<=>F54FDO, F54FDO, >?G5O < 4>EG7>6>-

D476?5>4F5?L=O5 GGD5645=<O 4?O �D<F5?5= < 4DF<EF>6». 

�=GFD5==55 ?>64D>FGL5=<5 744=<O 6 D4<>4E ?D>5>F4 >4?D5<>=F4 =5 74FD47<645FEO. 

5. %6545=<O > D4EG5F=>< (?D>5>F=><) D4EE>45 6>4O =4 ?D><76>4EF65==O5 

=G64O 

�D><76>4EF65==>5 6>4>E=4565=<5 6 744=<< =5 FD55G5FEO. 

6. %6545=<O > D4>F<G5E>>< < FD55G5<>< =4?>D5 6 E5F< 6>4>E=4565=<O, 

?D>5>F=OE D5L5=<OE < <=65=5D=>< >5>DG4>64=<<, >55E?5G<64NM<E 

E>744=<5 FD55G5<>7> =4?>D4 6>4O 

� D4<>4E ?D>5>F4 >4?D5<>=F4 ?> ?5D5=>EG E4=G7?>6, =4?>D 6> 6=GFD5==5= E5F< 

6>4>E=4565=<O F54FD4 =5 <5=O5FEO 

7. %6545=<O > <4F5D<4?4E FDG5 E<EF5< 6>4>E=4565=<O < <5D4E ?> <E 

74M<F5 >F 47D5EE<6=>7> 6>745=EF6<O 7DG=F>6 < 7DG=F>6OE 6>4 

�D>5>F>< ?D54GE<4FD<645FEO 74<5=4 EF>O>>6 < D476>4OM<E FDG5>?D>6>4>6 E>?>4=>7> < 

7>DOG57> 6>4>E=4565=<O 6 E4=G7?4E =4 2, 3 < 4 MF464E. �47<EFD4?L=O5 FDG5>?D>6>4O < 

D476>4>4 6=GFD5==57> E>7O=EF65==>7> 6>4>E=4565=<O ?D54GE<>FD5=4 <7 ?>?<?D>?<?5=>6OE 

FDG5 «PPRC» F<? 3 PN10 4?O %�% <  PN20 4D<<D>64==O5 4?O ��%. 

�E5 FDG5>?D>6>4O (>D><5 ?>46>4>> > E4=?D<5>D4<) <7>?<DGNFEO F5??><7>?OF<>==O<< 

<745?<O<< (FDG5><) <7 6E?5=5==>7> ?>?<MF<?5=4 «K-Flex PE» F>?M<=>= 4?O %�% 3 9 <<; 

4?O ��% 3 13 <<.  

�D>>?44>4 FDG5>?D>6>4>6 ?D><76>4<FEO E G>?>=>< 0.002 6 EF>D>=G >F <5EF4 F>G>< 

?>4>?NG5=<O > ?>FD55<F5?O< (6>4>D475>DG). 

�?O >55E?5G5=<O =>D<<DG5<OE ?D545?>6 >7=5EF>=>>EF< >7D4644NM<E >>=EFDG>F<=, 

E>7?4E=> %� 2.13130.2012 ?.5.2.4, ?D>E>4 FDG5>?D>6>4>6 G5D57 >7D4644NM<5 >>=EFDG>F<< 

(EF5=O, ?5D5>DOF<O) ?D54GE<>FD5= 6 7<?L74E E 74?>?=5=<5< 6=GFD5==57> ?D>EFD4=EF64 

7<?L7 <<=5D4?L=>= 64F>=. % =4DG6=>= EF>D>=O 7<?L7O ?D< ?D>>?44>5 ?>?<?D>?<?5=>6OE 

FDG5 ?D54GE<4FD<645FEO ?D>F<6>?>64D=4O 7445?>4 F5D<>D4EL<DONM<<EO 

?D>F<6>?>64D=O< 75D<5F<>>< (4?O FDG5 ø16-40<<).  

8. %6545=<O > >4G5EF65 6>4O 
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�> =47=4G5=<N E<EF5<4 6>4>E=4565=<O - E>7O=EF65==>-?<FL564O, >>F>D4O 4>?6=4 

G4>6?5F6>DOFL FD55>64=<O< %4=�<� 2.1.4.1074-01. 

9. �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N GEF4=>6?5==OE ?>>474F5?5= 

>4G5EF64 6>4O 4?O D47?<G=OE  ?>FD55<F5?5= 

� D4<>4E ?D>5>F4 >4?<F4?L=>7> D5<>=F4 E5F5= 6>4>E=4565=<O 744=<O, <5D>?D<OF<O ?> 

>55E?5G5=<N GEF4=>6?5==OE ?>>474F5?5= >4G5EF64 6>4O 4?O D47?<G=OE ?>FD55<F5?5= =5 

?D54GE<4FD<64NFEO. 

10. �5D5G5=L <5D>?D<OF<= ?> D575D6<D>64=<N 6>4O 

$575D6<D>64=<5 6>4O 4?O E>7O=EF65==>-?<FL56OE =G64 =5 FD55G5FEO. 

11. �5D5G5=L <5D>?D<OF<= ?> GG5FG 6>4>?>FD55?5=<O , 6 F>< G<E?5 ?> 
GG5FG ?>FD55?5=<O 7>DOG5= 6>4O 4?O =G64 7>DOG57> 6>4>E=4565=<O; 

� D4<>4E ?D>5>F4 >4?<F4?L=>7> D5<>=F4 E5F5= 6>4>E=4565=<O 744=<O, 74<5=4 ED54EF6 

GG5F4 6>4>?>FD55?5=<O =5 ?D54GE<>FD5=4 7444=<5< =4 ?D>5>F<D>64=<5. 

12. �?<E4=<5 46F><4F<74F<< E<EF5<O 6>4>E=4565=<O 

�6F><4F<74F<O 6>4>E=4565=<O =4 >5N5>F5 =5 FD55G5FEO. 

13. �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N E>5?N45=<O GEF4=>6?5==OE 

FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< > GEFD>=EF64<, 
F5E=>?>7<O< < <4F5D<4?4<, <E?>?L7G5<O< 6 E<EF5<5 E>?>4=>7> 

6>4>E=4565=<O, ?>76>?ONM<E <E>?NG<FL =5D4F<>=4?L=O= D4EE>4 

6>4O, 5E?< F4><5 FD55>64=<O ?D54GE<>FD5=O 6 7444=<< =4 
?D>5>F<D>64=<5 

%>5?N45=<5 FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< 6 E<EF5<5 E>?>4=>7> 

6>4>E=4565=<O 4>EF<745FEO E?54GNM<<< <5D>?D<OF<O<<: 

- ?D<<5=5=<5 ?>?<?D>?<?5=>6OE FDG5, <<5NM<E <<=<<4?L=GN L5D>E>64F>EFL ?> 

ED46=5=<N E> EF4?L=O<< FDG54<<, < E>>F65FEF65==> =55>?LL<5 ?>F5D< 446?5=<O 6 

FDG5>?D>6>44E,  4 F4> 65 E=<65=<5 ?>F5DL 6>4O 6 E<EF5<5; 
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- 446?5=<5 6 FDG5>?D>6>44E G E4=<F4D=>-F5E=<G5E><E ?D<5>D>6 =5 ?D56OL45F 0.45�?4 

E>7?4E=> %� 30.13330.2020 ?.5.3.1.6 < E>>F65FEF65==> G<5=LL45F =5D4F<>=4?L=>5 

<E?>?L7>64=<5  6>4O; 

- 6> <75564=<5 >>=45=E4F4, 4?O FDG5>?D>6>4>6 E>?>4=>7> 6>4>E=4565=<O 

?D54GE<>FD5=4  F5??><7>?OF<O; 

�>?>?=<F5?L=OE <5D>?D<OF<= > FD55>64=<O< ?> M=5D75F<G5E>>= MDD5>F<6=>EF< E<EF5<  

E>?>4=>7> 6>4>E=4565=<O 7444=<5< =4 ?D>5>F<D>64=<5 =5 ?D54GE<>FD5=>. 

14. �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N E>5?N45=<O GEF4=>6?5==OE 

FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< > GEFD>=EF64<, 
F5E=>?>7<O< < <4F5D<4?4<, <E?>?L7G5<O< 6 E<EF5<5 7>DOG57> 

6>4>E=4565=<O, ?>76>?ONM<E <E>?NG<FL =5D4F<>=4?L=O= D4EE>4 
6>4O < =5D4F<>=4?L=O= D4EE>4 M=5D75F<G5E><E D5EGDE>6 4?O 55 

?>47>F>6><, 5E?< F4><5 FD55>64=<O ?D54GE<>FD5=O 6 7444=<< =4 

?D>5>F<D>64=<5; 

%>5?N45=<5 FD55>64=<= M=5D75F<G5E>>= MDD5>F<6=>EF< 6 E<EF5<5 7>DOG57> 

6>4>E=4565=<O 4>EF<745FEO E?54GNM<<< <5D>?D<OF<O<<: 

- ?D<<5=5=<5 ?>?<?D>?<?5=>6OE FDG5, <<5NM<E <<=<<4?L=GN L5D>E>64F>EFL ?> 

ED46=5=<N E> EF4?L=O<< FDG54<<, < E>>F65FEF65==> =55>?LL<5 ?>F5D< 446?5=<O 6 

FDG5>?D>6>44E, 4 F4> 65 E=<65=<5 ?>F5DL 6>4O 6 E<EF5<5; 

- 446?5=<5 6 FDG5>?D>6>44E G E4=<F4D=>-F5E=<G5E><E ?D<5>D>6 =5 ?D56OL45F 0.45�?4 

E>7?4E=> %� 30.13330.2020 ?.5.3.1.6 < E>>F65FEF65==> G<5=LL45F =5D4F<>=4?L=>5 

<E?>?L7>64=<5 7>DOG5= 6>4O; 

�>?>?=<F5?L=OE <5D>?D<OF<= > FD55>64=<O< ?> M=5D75F<G5E>>= MDD5>F<6=>EF< E<EF5< 

7>DOG57> 6>4>E=4565=<O 7444=<5< =4 ?D>5>F<D>64=<5 =5 ?D54GE<>FD5=>. 

15. �?<E4=<5 E<EF5<O 7>DOG57> 6>4>E=4565=<O 

� D4<>4E ?D>5>F4 >4?D5<>=F4 2, 3 < 4 MF465= ?D54GE<4FD<645FEO ?>4>?NG5=<5 ��% > 

EGM. E5FO< ?>4 ?>F>?>>< 1 MF464. 

&5<?5D4FGD4 7>DOG5= 6>4O 6 <5EF4E 6>4>D475>D4 4>?6=4 E>>F65FEF6>64FL FD55>64=<O< 

%4=�<� 2.1.4.1074-01 < %4=�<� 2.1.4.2496-09  < 4>?6=4 5OFL =5 =<65 60 °% < =5 6OL5 75 

°%. 

 

http://docs.cntd.ru/document/901798042
http://docs.cntd.ru/document/902156582
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16. $4EG5F=O= D4EE>4 7>DOG5= 6>4O 

$4EG5F=O= D4EE>4 7>DOG5= 6>4O E<. ?.4. 

17. �?<E4=<5 E<EF5<O >5>D>F=>7> 6>4>E=4565=<O < <5D>?D<OF<=, 

>55E?5G<64NM<E ?>6F>D=>5 <E?>?L7>64=<5 F5??4 ?>4>7D5F>= 6>4O 

�5>D>F=>5 6>4>E=4565=<5 6 ?D>5>F<DG5<>< 44<<=<EFD4F<6=>< 744=<< =5 FD55G5FEO. 

18. �4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> >5N5>FG >4?<F4?L=>7> 
EFD><F5?LEF64 6 F5?>< < ?> >E=>6=O< ?D><76>4EF65==O< ?D>F5EE4<  

�4?4=E 6>4>?>FD55?5=<O < 6>4>>F6545=<O ?> 744=<N ?D54EF46?5= 6 F45?<F5 7 1. 

&45?<F4 1 

�4<<5=>64=<5 
E<EF5<O 

$4EG5F=O= D4EE>4 

<3/EGF <3/G ?/E 

�1>5M 10,58 1,486 0,77 

6 F.G. �1 7,94 0,79 0,49 

&3 2,64 0,66 0,42 

?4D>G6?46=<F5?L 

  
0,146 

 

�1 10,58 1,34 2,37 

19. �5>E=>64=<5 6O5>D4 >>=EFDG>F<6=OE < <=65=5D=>-F5E=<G5E><E 

D5L5=<=, <E?>?L7G5<OE 6 E<EF5<5 6>4>E=4565=<O, 6 G4EF< 

>55E?5G5=<O E>>F65FEF6<O 744=<=, EFD>5=<= < E>>DG65=<= 
FD55>64=<O< M=5D75F<G5E>>= MDD5>F<6=>EF< < FD55>64=<O< 

>E=4M5==>EF< <E ?D<5>D4<< GG5F4 <E?>?L7G5<OE M=5D75F<G5E><E 

D5EGDE>6 (74 <E>?NG5=<5< 744=<=, EFD>5=<=, E>>DG65=<=, =4 >>F>DO5 
FD55>64=<O M=5D75F<G5E>>= MDD5>F<6=>EF< < FD55>64=<O 

>E=4M5==>EF< <E ?D<5>D4<< GG5F4 <E?>?L7G5<OE M=5D75F<G5E><E 
D5EGDE>6 =5 D4E?D>EFD4=ONFEO) 

�?O >55E?5G5=<O E>>F65FEF6<O 744=<O FD55>64=<O< M=5D75F<G5E>>= MDD5>F<6=>EF< 

?D<=OFO <=65=5D=>-F5E=<G5E><5 D5L5=<O: 

1.1 
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- E<EF5<4 7>DOG57> 6>4>E=4565=<O ?D<<5=5=4 >F 6>4>=47D564F5?5=, D4E?>?>65==OE 

=5?>ED54EF65==> ?5D54 E4=?D<5>D4<< 6 E4=G7?4E, F5< E4<O< <E>?NG5=> >EFO64=<5 6>4O 6 

FDG5>?D>6>45, 4 F4>65 <E>?NG5=4 =5>5E>4<<>EFL E?<64FL 6 >4=4?<74F<N =47D5FGN 

6>4>?D>6>4=GN 6>4G, ?>>4 55 F5<?5D4FGD4 =5 E?<L>>< 6OE>>4; 

- FDG5>?D>6>4O E<EF5< E>?>4=>7> < 7>DOG57> 6>4>E=4565=<O <7 ?>?<?D>?<?5=>6OE 

FDG5 E> ED>>>< E?G65O ?D< F5<?5D4FGD5 6>4O 20º% =5 <5=55 50 ?5F < F5<?5D4FGD5 6>4O 

75º% =5 <5=55 25 ?5F E>7?4E=> %� 30.13330.2020 ?.7.1.2;  

- 446?5=<5 6 E<EF5<4E E>?>4=>7> < 7>DOG57> 6>4>E=4565=<O =5 ?D56OL45F 0.45 ��4 

E>7?4E=> %� 30.13330.2020 ?.5.3.1.6. 

20. �?<E4=<5 <5EF D4E?>?>65=<O ?D<5>D>6 GG5F4 <E?>?L7G5<>= E>?>4=>= 

< 7>DOG5= 6>4O < GEFD>=EF6 E5>D4 < ?5D544G< 44==OE >F F4><E 

?D<5>D>6 

� D4<>4E ?D>5>F4 >4?<F4?L=>7> D5<>=F4 E5F5= 6>4>E=4565=<O 744=<O, 74<5=4 ED54EF6 

GG5F4 6>4>?>FD55?5=<O =5 ?D54GE<>FD5=4 7444=<5< =4 ?D>5>F<D>64=<5. 
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